~Tutorsal 10
Exe)ram /6§

19 let X=rase L J=rshg %Lm £=2r€l2,612 reln2] ad Q¢ oM, Thus,
Y“(DQ)‘ Y‘COSS'b-i-Y‘S'InGJ +2Y‘k

DT, w595+ cmed +2h Fo =~ b L +rosed
= i3 B .

N xTre = |@y Sno 2\ = (-DY‘CDSG)i + (*)NW):; 44 "Tl
— -¥5ing yse O
DInxp|={fr
> Ayg= (N 3

5 o (T e g e 5

. 3 - X -y - A = <o <
27. let isme%-% = 39:‘3’ SR, =i nSnbae] = -37433 4
*

bsiwo =3 =0 n= R
Lz =0
= Yexnz |3 3 k| 2353437 —->+LteJ(a~g% P[;m ¥s
3 3B o (383 +3})- ((i !;)1* g *EE)
vl o |

7@1*5 7 The arvebriaton > £ = 35009 égam@mg Y. £ anys
D A Ye3650 = 64 2 AHYD= e

4 B=%, F =124 22+ =0 B
= VF-= (A, 2,72 = VE- 73 =-2
WFI“M:H& e

S S§ I\SFlW - Sé E8EL chidy
g 3” o2 dyde =" :Lﬁzo(i AN
g e o) = (iﬂ)




